1. sin(90°-A) = - 4 o, tan A 2] ZE& Fstodzt (HF,0°<A4 < 90°)
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oS AFzHH] 9] EE H 17 sin 70° 4 cos 50° X sin 25° 4 tan 70° 9] #&
Fop?

e sin cos tan

25° 0.42 0.90 0.46

50° 0.76 0.64 1.19

70° 0.93 0.34 2.74
@ 3.9188 @ 3.9288 ® 3.9388

@ 3.9488 (3 3.9588



4. & 294 LAQC =60°, /BOC =60° ¢ o], ZAPB ¢ 27]&
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5. o2 a8 x+y-a-b 2] F2?
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ohe 273 22 9 0 oA 5.0ptAB =
5.0ptBC , ZABC =120° € o, zx &] 3
71 E stolz=t




8.  Uha IHANA 22x - 2y 9] g2 LukI7R?

D 124° ? 122° 3 120° @ 118° B 116°
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10. sinA = g A ff, cosA + tanA ] FH2? (T, 0° <A <90°)
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11. sin30°sin60° 4+ cos 30° cos 60° + cos 45° sin 45° 2] 22
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12. ©-& a93} Zo] /B = 60°, /C = 45° 1 AABC 9|4 AHLBC °o]1,
AB =8cm ¥ ufj, AC 2] Zo]=?

@ 4cem @ 4+v3cm ® 4+V6em
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13. sin0° xtan0° —cos0° 2] ZF2 A, sin90° x cos 90° + tan 0° 2] <
Bt g o, B- A 9] ka9

D -2 2 -1 ® 0 @ 1 B 2



2t sin cos tan

54° 0.8090 0.5878 1,3764
55° 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1.4826

@D 8.192 ® 5.736 3 5.878

@ 8.09 B 8.29



15. o8 a¥oA /BCO = 25° ¥ o, /BAC
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16. o2 99 % @ AB, CD 9 ZHL2 P o],
S BC 9 dol7t 3x & wf, o] o] YFE
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17. & IHlA 5.0ptAB = 5.0ptBC,

/ABD = 65°, /BDC = 40° ¢ 0,
(CAD 9] 37]1%?

A 25° ® 30° 3 35° @ 40° (B) 45°






= 90° ¢l FZM}ZES AABC 9| A] sinA — cos A 9]




20. o2 3 cosA o} o] 2 A=Y

@D sinA ® sinB 3 cosB @ tanA ® tanB



21. o2 189 AABC oA 2C =90° & W, sinA + cosA 9] S F5t
o2},
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22. Thg 1] 1ZH4I7HE ABC oA cosA o] B Fotolat,




23. o3 199] 277k ABC oA sinA 9] gk totolEh




24. & oA sinB, cosB, tan B & Ff2 A2 #5koi=t




25. o8 oA sinB, cosB, tan B & #f2 A2 #5koi=t



26. sinA= - % H, cos AtanA o Fh& ool
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